9. Write short note on the following :
(a B.EP
(b) P/V Ratio.
(c) Margin of Safety. :
(d) Difference between contribution and profit. (4x4=16)
fm w e e fafe .
(%) witmer fagl
(@) 79 S
() {Rem Hm
(%) 3Em R A S
10. Calculate Material Variances from the figures below :
= & T gemel ¥ el el @t e e
(i) Material C.
(ii) Material P.
(iii) Material usage.
(iv) Material Revised Usage.
(v) Material Mix.
(vi) Material Yield Variances.
i Standard Standard usage Actual  Actual price
p g EHW@E. kg per unit of output Usage perkg
() (e EE) (SR F W TN (A (S
% fog wofem wmaft) s )
3 350 6
W M 3 300 5
C 10 4 250 8
12 900
Actual output 80 units (STEIfEH I 80 FTFEAN) | (16)
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UNIT-I (F%TE-1)
What is Cost Accounting ? Explain the process of installation
of a costing system. Describe the practical difficulties of
installing a costing system., (16)
T e &7 o s vah ® 3o
WSR3 T S W T e § e A 2y
FisTEal FamEy

1.

2. (a) Define Bin Card, Explain the difference between bin
card and store ledger.
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3.

(b) Material X is supplied by M/s Tejasvi Ltd. on regular
basis at the rate of Rs. 40 per unit. The annual demand
of the factory is 6,400 units. The cost of order entry,
billing and inward inspections comes out to be
Rs. 200 each order, while cost of carrying one unit of
inventory in store is Rs. 4 per year. The factory is
presently following the policy of E.O.Q. buying.
M/s Tejasvi Ltd. Offers 1% discount in case the factory
purchases the entire annual demand in one lot. Should
the factory accept the offer or not? (8+8=16)

(%) for-vrw ® Wi Ffmw fm wE o =
TaEE § R T Hifw)

() e et o 0 SRR T o P
0% T TEE B WA T W@ F B
Tt sTavaFa 6400 THETEE &1 emw, fafdn sik
T Frdieon # @R 200, W TR oMl ®, Wafm
=R # TF T T F AW 4 T I
F ¢ E0.Q MR W 9 # Afa o w ¥
Joeht f. 3 1% g2 T TR @ § ARk we o
e ETIEN T § AR H FI FU TG
JEE EHR Hw AEy?

What is meant by 'Incentive Plan' in the remuneration
of labour? Mention two method, giving their merits and
demerits. (16)

T TR F RO TS ® w s §? TeE
el @ faferell % 1w A i i
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4.

UNIT-II (3%T$-11)
What do you mean by Codification of overheads? Discuss
the various methods of Codification, (16)

ﬁmﬂ&.%ﬁ%ﬁ?@ﬂa@ﬁ_ﬁﬂuﬂwwﬂﬂﬁﬂ
@Eﬂﬂ@?ﬂ@?&ﬁﬁr%_

The "Sai" firm purchased a plant to manufacture a new
product. The cost data for which is given below : (16)

;ﬁ:i»ﬁﬁﬂ&rﬁ&ﬁﬂaﬂd

Estimated annual sale

Rs. 40,000
(A e fars)
Estimated Costs (/™| =) .
Materials (gmft) 4 per unit

Direct labour (Y87 5%7)
Factory overhead

(FREm 39feTy)

Administrative expenses

(Wt =)
Selling expenses (fqwg =17)

« 0.60 per unit
Rs. 24,000 per annum

Rs. 28,000 per annum

15% on sale

- Calculate the selling price if profit per unit is Rs, 2.

21052/900/KD/1131 3
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What do you mean by reconciliation of cost accounts and
financial accounts? What are the objects of preparing
reconciliation statement? Explain the methods of preparing
reconciliation statement. (16)

e orEl aun T ol @ e ¥ o9 == e §?
Ty R U3 ® F 3y £ gom famwm w @
TR F@ W oFn By § suw ool Wi

UNIT-III (¥%T8-I11)
What do you mean by operating costing? What is the
meaning of transport operating costing? What is the
procedure to calculate transport operating cost? (16)

e @ 5ty = oF @Y 27 gem @ e
fearem fafu = Bt 22 armm @ afees fEmem by
F T FE F uEE = € e

The ‘Naina’ Manufacturing Company's product passes
through two distinct processes 'A' and 'B' and then to Finished
Stock. It is known from past experience that wastage
occurring in the process is as under :

% ¥ fepdeEin FE w1 SR oo e gen ‘@
yhrmsl § sweR g € ok wa fiftln wiE § wgE @
et v Q9% . ¢ TF wheed | ¥R awen e =
TER B ®

In process 'A' 2.5% of the units entering the process

fE ‘o' | wiEa | WOV T W 2.5%
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In process 'B' 5% of the units entering the process

i ‘v’ ° wfEw § wEv TERA A 5%

The scrap value of the wastage in Process 'A' is 4 per 100
units and in Process 'B' is Rs. 5 per 100 units.

s ‘o1’ H &/ W STavIY qe9 4 TUQ W 100 THEEA a4
s ‘a' d 5 T Wi 100 TEEE R
The process figures are (a1 atide fret ) .

Process 'A’ Process 'B"

(Rs.) (Rs.)
Material Consumed 6,000 3,000
(Tt weRT)
Wages (TR#MF) 7,000 4,000
Manufacturing Expenses 1,000 1,000
(Fmtor =)

5000 units were brought into Process A costing Rs. 2,500.
The output were :

wfwar ‘e’ # Rs. 2,500 F FOE F 5,000 THEA A WO
foram SR o

Process A (Wfsmar ‘31') 9,400 Units

Process B (Wf&wan ‘=') 8,300 Units

Prepare Process Cost Accounts showing the cost of the output.
Also show Abnormal Wastage Accounts. (16)
IR w1 e R g WR uied T (R Hif
[ I T T ot fEemu
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